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Mok 3 _ 331
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Cos 30
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#
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d, - 3(36) = 108 mm
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&
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WM 32 (S150) (2.5) s
. ( )15 . [W]ln: 110 mm

a3
g S laal d o= Yo mm e bz L
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pratl g s B 5 g0 Jlasl S B0 0l it G551
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M, = [(1151.1}2 + (1683) ] = 2040 Mpa A 55 st Ghas anfly

32 (2040) (10°) = 40.9 Mpa
i (B0)
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YU goldas s oS ciln 3 salizad b

a = 40.6 Mpa ; o = 17.24

8, = 8§ Mpa ; n= 505 °
arel i B 3 I_,;,.,.».:-gl.,u_n_u_'sﬁ (c

2 . 7 4172 )
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0 = . H ﬂz= 12{" H ﬂa= o’

Sinﬂa;l ; a= R = 100 mm

br 120 Ve T 400
M, = P, | 0125 (- Cos 0), " - 0.1 (1, Sin" 0),

Sin Hﬂ
_ 032 (600) (10°) (0.028) (0.125) OIE15 CO8TS)
1
- 101 N.m
Ph ")
M, = 2 [2- 'Y sin20 ]"m
sin ﬂa 2
3
600 (107 (0.028) (0.125) (0.1 120
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Gt 3l = T = 565 Nm
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F_= 0,947 Sin 30 = 0474
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R, SR CUER (A [£-1sin2s) ™ _ 0.32¢L Sin%6) m] _ 0820 -
y : 774 ' e e

1%‘.3r = 0257 KN
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Sirlﬂ
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10° 10
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165
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Sin {
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it
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a
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[
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f—lJ‘iJn.:-‘l;.’l—n—u..uLgllx Cb
fp br” :
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= 7253 Kpa k

P
£
T, = 11834 —}Tdsz Tll + Tl_.' 2811 N.m
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